package lab10;
public class Edge 
{

// an edge has two vertices at its ends, vert[0] & vert[1], 

// and a weight which defaults to 0

private Vertex[] vert = new Vertex[2];

private int weight = 0;

public Edge(Vertex v0, Vertex v1, int w) 

{


vert[0] = v0;


vert[1] = v1;


weight = w;

}

public Vertex getVert(int i)

// precondition i=0 or i=1

{


return vert[i];

}

public int getWeight()

{


return weight;

}

// sets weight to w; or to 0 if w < 0.

public void setWeight(int w)

{


if(w<0)



weight = 0;


else



weight = w;

}

// this and other are edges between the same two vertices

// then they are equal edges

public boolean equals(Object other)

{


Edge that = (Edge)other;


if(vert[0]==that.vert[0] && vert[1]==that.vert[1])



return true;


if(vert[0]==that.vert[1] && vert[1]==that.vert[0])



return true;


return false;

}
}
